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(English Version)
Note :

w y
o ;‘;'n! 15 minutes are allotted for the candidates to read the question paper.
) q:"""*“" paper ia divided into two paris — Part A and Part B.

v W Part B are divided into three sub-sections 1, 2 and 3.

i) In Pary
correct nI:-:: r:w Question paper, there are Multiple Choice Type Questions. Select the
in OMR An tve and then by a blue or black ball point pen, fitl completely in the circle
Nswer-Sheet. Do not erase, cul or use whilener ON the OMR

() 1 mark ;g '
wd PartB) allotteq 4, each question in the multiple choice type questions of @-
Qs d"”("npf“m qm,‘;’om' o

wiid) Al the queprio .
C8tiony of Sub-Sections .
Sub-Section fmm‘:{ m‘:v ” ec;o of Part B gre to be attempte @t‘a time. Start each

nx) Al Questions gpe compulsory. 6

@0

Part A
Subﬂocﬂmo
Maitiple Choice Type Questiona : o
1. The image of an ?bjm pl;.;cod l.wt\’v&e pole and the focus of a eoncave mirror

is formed :
T~
(A) Erect, virtual, small :9

(C) Erect, real, large
Which lens is us \thing the defect of long-sightedness (far-sightedness) ?

{B) Erect, virtual, large
(D) Erect, real, small

2
(A) Concprel .B) Convex lens
© Begms (D) None of these
1 The &Diﬁcafiun of the virtual image of an object placed at a distance of 0.2
from the lens 18 05. The lens will be : I
) A concave lens of focal length 1 m
/B) A concd¥® lens of focal length 02™
() A conve¥ lens of foea] length 012
D) A conve® lens of foca) length 02 &
’ PTO
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4  When white light passes through a prism of glass, the colour of 5

i
maximum towards the base of the prism is : ght ray bent
(A) Blue (B) Red-
(C) Green (D) Violet

5. Two wires of resistances R, and R, are joined in parallel. Theiy equi
' Wvalent .

resistance will be :

(A) Ry +R2) (B) (RyxRy)
R; xRo Ri1+R d
: oy |—=2 (@)

. . 00
6. The filament in an electric bulb is made of : q
(A) Nichrome (B) Iro 06

(C) Tungsten (D) @ntan

7.  The transformation in an electric cell is Qo

(A) Chemical energy to Electrical &y
JB) Electrical energy to Mech energy
{C) Mechanical energy to cal energy

(D) Electrical energé ical energy

L < ‘
e Sub.Section 2

8. Ing reaction, 2FeClg+21q v, o FeCl, + 1,50, + 2 HC,
3 s (B) H,S
©  so, D) Cly

9. Which of the £ ouowing is an acidic Sa)t ?
{A)  NaQy (B) NaHSO,
(C)  Na,S0, (D) KCN
824 (IK) 8
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10. Matte mainly consists of :
(&) FeS B) Cu,S

L0 CuySand FeS (D) CuyS and Fe,S,

11, Complete th, following chemical equation :

~———*PCly —, CH,COCI + POC]; + HC

A C
* CHson (B) GH,COOH

© C
2501 D) CH;CH,COOH

12. Amphoteric oxide is :
(A) Na20

' L 4
® Mgo QQ
(C)  Al,0,4 (D) Py04 6
18. Chemical formy)g of propane is : &\0

(A) CH, (B)

(C) CHy, QzHB
&

14 Reproduction in Hydra@? :
(A) Budding o (B) Fission

(C) Fragm (D) Vegetative propagation
I8 Thep f breakdown of pyruvate takes place in :
ytoplasm (B) Mitochondria
© Chloroplast (D) Nucleus

(Y The kidneys in human beings are a part of Which system ?

(A) Nutritio? B) Respiration

. ) '
C) Excretio® @ TraHSportatmn

& (IK)

)
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17.

18,

19.

20.

Descriptive questiﬂ’nb

21

A

Mendel got his primary education in :

(A}  Temple (B} School
©)  Gurukul (D) Monastery
: 1 tem ?

Loop is placed in which part of female reproductive system

tA) * Ovary (B) Oviduct
LC1 Uterus (D) Vagina

Which of the following organ represents male reproductive organ ip °§
(A)  Gynoectum  (B) Stamens 0
QQ‘

\C) Stigma (D) Ovary

Which of the following is/are called environment @I‘mﬁc&(s) ?

‘A Carrying cloth bags whj_le going to mark eeping purchased items

(B!  Switching off light and fans to avoid @cessa.ty consumption of energy

¢ Walking to school on foot instgai @.ﬂg by vehicle

Dt All of the above 0

S g
606 Sub;erztin 1

Ar what dis should an object be placed from a concave miryor of focal length
10 cm. @ shat a real image 5 times larger is formed. Also, find the position of the

Tgfuxal length of a conveX lens is 50 cm. State the Position f the image of an

object placed at a distance o 25 am, perpendicularly on its axjg Also, determine
the magnification of the image. S.

The resistances 2 ﬂ 3Qand §q are joined in serieg, If the two ends of the
sombination Are joined to a Potential difference of gq volts, then find the
potential difference between the ends of each resistance )

524 K] 10
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Write down the working and colours of the insulation of the wires used in the

domestic electrical distribution cireuit : - 6
(i)  Live wire
(i) Neutra] wip,
OR
Explain ) Flemings Left Hand Rule and (i) Right Hand Thumb Rule. For
which physical Quantities are they used for finding their directions ? 6
Sub-Section 2 0 ¢
25, Write the balanced chemical equations for the followin@ons ‘ 1+1+14+1=4

()  Lead nitrate is heated S\

(ii) Ethanoic acid reacts with Sodium carbo@

(iii) Reaction of Zinc with Silver nitr % '
(iv) Reaction of Sodium sulphate with Barium chloride solution

26, Write short notes on the follc@? 249=4

(i) Homologous serbo

Ai)  Versatile f Carbon

e ITUPAC names of the following compounds 3

@ { CB4COOH
Q(ll} CH3CH20H201
Giiy CH=CH

»(b) Whatis s0ap ? Write the chemical réaction for ¢he preparatmn of soap and
write tWO characteristics of a soap- 3

~ OR
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. (a) Explain exothermic and endothermic reactions.

: 2
(b)  What is pH value ? How is it related to hydrogen ion concentration ? ,
(¢)  Differentiate between minerals and ores. )
Sub-Section 3
28. (a) Whatis the role of saliva in the digestion of food ? 2
(b)  Why is ozone layer important for us ? & g
_29. (a) Differentiate between self-pollination and cross-pollination, 0 9
i | .
(b) Write a short note on any two permanent methods of & Planning, 9
- 30. (a) Write the name and functions of any two pl&@nones. 9

(b) Mention the importance of stomata n @ 2
N‘?:;/Descﬁpe the structure and function o@n in human 3
| . +3=6

OR
Explain the importance of &uents of Mendel in the rule for the inberitan
ce

of traits, eo

824 (IK)


Hindustanknowledge.com


